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Biology 9: Protein Synthesis
In Sickle-cell anemia, one single nucleotide substitution causes a mutation that generates the wrong amino acid sequence, causing the sickle-shaped red blood cell.  Please describe how that single nucleotide change codes for the wrong cell shape.  Be sure to trace the path from DNA to protein using all the steps in between.  Make sure you use the proper terms for processes.
Write in complete sentences.
Please use at least 6 vocabulary terms.  
Include where each part of the process takes place inside the cell.
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Biology 9: Protein Synthesis
[bookmark: _GoBack]In cystic fibrosis, one single nucleotide substitution causes a mutation that generates the wrong amino acid sequence, keeping a protein in the cell membrane from doing its job.  This causes thick mucus to build up in the lungs.  Please describe how that single nucleotide change codes for the wrong protein shape.  Be sure to trace the path from DNA to protein using all the steps in between.  Make sure you use the proper terms for processes.
Write in complete sentences.
Please use at least 6 vocabulary terms.  
Include where each part of the process takes place inside the cell.
																																																																																																																																																																																																			

